GeLIVEWORKSHEETS

Present « simple » /6 Present continuous « be + ing » /6
60 RUN
+ |1 + |She + |1 + |She
- | You - |We - |You - |We
92 he 1 9 they ? 9 he 9 they ?
Prétérit (= past) « simple » /6 Prétérit (= past) « be + ing » BONUS
WANT GET
+ |1 + |[She + |1 + |She
_ |You _ |We _ |You - |We
2 he | 9 they 9 he 2 they
2 o
?
Present perfect « simple » /6 Present perfect continuous BONUS
WALK DO
+ |1 + |She + |I + |She
- |You - |We - |You - | We
2 he 2 they 2 he 9 they
? ?
TOTAL : . /24 + .../ 4pts BONUS= ... /24




